Math 172 Quiz 7 Name:

Sections: 10.4-10.5 Point values in | boxes |
2 November 2018

1. Please circle True or False, as appropriate.

(a)@/ F: If 3 |ay| converges, Y a, converges.
(b) T /(FIf 3 |an| diverges, 3 an diverges.

(e} T AFDIf Y an converges, 3 la,| converges.
(d T /@If an — 0 as n — 00, the series Y a, converges.

2. For the series below, show the series converges absolutely, converges conditionally, or diverges.
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3. For each of the following, use the Root or Ratio Test to show the series converges or diverges.
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